Anti-Tagged Channel:

EZ" > 20 GeV, E)"? > 20 GeV

Hyp =Y Pr < 215 + 325=%1epeniets

EP* > 20 GeV, Br > 20 GeV, my > 20 GeV
AD(Fr,jet OR lep) > 20° OR F1 > 50 GeV

Events per 2.7 fb~! in the anti-tag signal region

Source ee L1 el [
top 0.9 £ 0.8 59+09 127+ 1.8 245 £ 3.2
ztop-HF 0.4 = 0.1 0.3 = 0.1 0.1 = 0.1 0.7 = 0.1
ztop-LF | 125 £ 3.8 8.9 £ 2.7 4.1 + 0.3 20.0 = 0.9
diboson 1.9 == 0.3 1.4 £ 0.3 3.9 = 0.0 6.0 = 1.2
fakeables 2.2 + 0.7 1.8 &= 0.6 5.8 1.3 9.9 £ 3.0
Total 22.8 £4.3 18333 26040 67.2=x10.3
Data 24 10 29 29




